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A I |ke.1 1 npuxoxasi 12,6 12,6 12,6 2,54
2 KYXHS1 11,4 11,4 11,4
3 Xunasi 18,4 18,4 18,4
4  |myanem 2,1 2,1 2,1
5 8aHHasi 3,6 3,6 3,5
6 xunasi 12,6 12,6 12,6
Hmoeo: 60,6 60,6 31,0 29,6
7 |nodxus 2,7 2,7 54
Bcezo no ke. 1 63,3 60,6 31,0 29,6 2,7 54 66,0
A | |ke.2 1 npuxoxasi 7,4 7,4 7,4 2,54
2 caHy3en 5,0 5,0 5,0
3 Xunasi 18,0 18,0 18,0
4 KYXHs1 11,8 11,8 11,8
Hmoeo: 42,2 42,2 18,0 24,2
5 1100XKUS 2,7 2,7 53
Bcezo no k8. 2 44,9 42,2 18,0 24,2 2,7 53 47,5
A | |ke.3 1 npuxoxasi 7,4 7,4 7,4 2,54
2 KYXHs1 11,9 11,9 11,9
3  |xkunas 18,0 18,0 18,0
4 caHysen 4,9 4,9 4,9
Hmoeo: 42,2 42,2 18,0 24,2
5 1100XKUS 2,7 2,7 54
Bcezo no ke. 3 44,9 42,2 18,0 24,2 2,7 54 47,6
A | |ke.4 1 npuxoxasi 12,9 12,9 12,9 2,54
2 xunasi 12,8 12,8 12,8
3 8aHHasi 3,6 3,6 3,5
4  |myanem 2,1 2,1 2,1
5 Xunasi 18,7 18,7 18,7
6 |KyxHs 11,4 11,4 11,4
Hmoeo: 61,4 61,4 31,5 29,9
7 |nodxus 2,7 2,7 53
Bcezo no ke. 4 64,1 61,4 31,5 29,9 2,7 53 66,7
A I |ke.29 1 npuxoxasi 12,8 12,8 12,8 2,55
2 |KyxHs 11,4 11,4 11,4
3 Xunasi 18,7 18,7 18,7
4  |myanem 2,1 2,1 2,1
5 8aHHasi 3,6 3,6 3,56
6 xunasi 12,8 12,8 12,8
Hmoeo: 61,3 61,3 31,5 29,8
7 |nodxus 2,7 2,7 53
Bcezo no k8. 29 64,0 61,3 31,5 29,8 2,7 5,3 66,6
A | |ke.30 npuxoxasi 7,4 7,4 7,4 2,55
2 caHysen 4,9 4,9 4,9
Xunasi 17,8 17,8 17,8
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4 KYXHs1 11,8 11,8 11,8
Hmoeo: 41,9 41,9 17,8 24,1
5 |nodxus 2,7 2,7 53
Bcezo no ks. 30 44,6 41,9 17,8 24,1 2,7 5,3 47,2
ke.31 1 npuxoxasi 7,4 7,4 7,4 2,55
2 KYXHs1 11,8 11,8 11,8
3 Xunasi 17,9 17,9 17,9
4 caHysen 4,9 4,9 4,9
Hmoeo: 42,0 42,0 17,9 24,1
5 |nodxus 2,7 2,7 53
Bcezo no ke. 31 44,7 42,0 17,9 24,1 2,7 5,3 47,3
Ke.32 1 npuxoxasi 12,6 12,6 12,6 2,55
2 xunasi 12,5 12,5 12,5
3 s8aHHasi 3,6 3,5 3,6
4  |myanem 2,1 2,1 2,1
5 Xunasi 18,6 18,6 18,6
6 KYXHs1 11,4 11,4 11,4
Hmoeo: 60,7 60,7 31,1 29,6
7 7100XKUSsT 2,7 2,7 53
Bceeo no ks. 32 63,4 60,7 31,1 29,6 2,7 53 66,0
Ke.57 1 npuxoxasi 19,0 19,0 19,0 2,63
2 |eapOepobHasi 3,3 3,3 3,3
3 KYXHS1 12,7 12,7 12,7
4 xunasi 21,5 21,5 21,5
5 Xunasi 13,1 13,1 13,1
6 xunasi 15,0 15,0 15,0
7 |8aHHas 4,1 4,1 4,1
8 myanem 1,8 1,8 1,8
Hmoeo: 90,5 90,5 49,6 40,9
9 |nodxus 2,3 2,3 4,6
10 |nodxus 2,2 2,2 4,5
Bcezo no ke. 57 95,0 90,5 49,6 40,9 4,5 9,1 99,6
Ke.58 1 npuxoxasi 3,2 3,2 3,2 2,63
2 caHysen 4,0 4,0 4,0
3 xunasi 18,6 18,6 18,6
4  |eapOepobHas 2,0 2,0 2,0
5 KYXHS1 9,3 9,3 9,3
Hmoeo: 37,1 37,1 18,6 18,5
6 |nodxus 2,3 2,3 4,6
Bcezo no ke. 58 39,4 37,1 18,6 18,5 2,3 4,6 41,7
Kke.59 1 npuxoxasi 2,8 2,8 2,8 2,53
2 |eapdepobHasi 0,9 0,9 0,9
3 xunasi 14,2 14,2 14,2
4 |KkyxHs 8,5 8,5 8,5
5 |caHy3en 4,0 4,0 4,0
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Bcezo no ke. 59 30,4 30,4 14,2 16,2 30,4
A | |ke.60 1 npuxoxasi 19,0 19,0 19,0 2,53
2 myanem 1,8 1,8 1,8
3 8aHHasi 4,2 4,2 4,2
4 Xunasi 15,0 15,0 15,0
5 |xunas 17,0 17,0 17,0
6 Xunasi 25,8 25,8 25,8
7 KYXHs1 12,7 12,7 12,7
8 |eapdepobHasi 3,5 3,5 3,5
HMmoeo: 99,0 99,0 57,8 41,2
9  |nodxus 2,3 2,3 4,5
10  |nodxus 32 3,2 6,4
Bcezo no ke. 60 104,5 99,0 57,8 41,2 55 10,9 109,9
A | |ke.89 1 npuxoxasi 12,9 12,9 12,9 2,57
2 KYXHs1 11,6 11,6 11,6
3 Xunasi 19,3 19,3 19,3
4  |myanem 2,1 2,1 2,1
5 s8aHHasi 3,6 3,5 3,6
6 xunasi 12,7 12,7 12,7
Hmoeo: 62,1 62,1 32,0 30,1
7 |nooxus 2,7 2,7 53
Bcezo no ke. 89 64,8 62,1 32,0 30,1 2,7 53 67,4
A | |ke.90 1 npuxoxasi 7,4 7,4 7,4 2,57
2 caHysen 4,9 4,9 4,9
3 Xunasi 17,8 17,8 17,8
4 KYXHs1 11,9 11,9 11,9
Hmoeo: 42,0 42,0 17,8 24,2
5  |nodxus 2,7 2,7 5,4
Bcezo no ks. 90 44,7 42,0 17,8 24,2 2,7 54 47,4
A | |ke.91 1 npuxoxasi 7,4 7,4 7,4 2,57
2 KYXHs1 11,9 11,9 11,9
3 Xunasi 17,7 17,7 17,7
4 caHysen 4,9 4,9 4,9
Hmoeo: 41,9 41,9 17,7 24,2
5  |nodxus 2,7 2,7 5,4
Bcezo no ke. 91 44,6 41,9 17,7 24,2 2,7 54 47,3
A | |ke.92 1 npuxoxasi 12,6 12,6 12,6 2,57
2 xunasi 12,5 12,5 12,5
3 s8aHHasi 3,6 3,5 3,6
4  |myanem 2,1 2,1 2,1
5 Xunasi 19,0 19,0 19,0
6 KYXHs1 11,7 11,7 11,7
Hmoeo: 61,4 61,4 31,5 29,9
7 |modxus 2,7 2,7 5,3
Bcezo no ke. 92 64,1 61,4 31,5 29,9 2,7 53 66,7
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Yimozo no 1-komHam. 338,2 319,7 140,0 179,7 18,5 36,7 356,4
MImoeo no 2-komHam. 383,7 367,5 188,6 178,9 16,2 31,9 399,4
Ymoeo no 3-komHam. 199,5 189,5 107,4 82,1 10,0 20,0 209,5
Mmoeo no keapmupam 921,4 876,7 436,0 440,7 44,7 88,6 965,3
9 / mambyp 6,0 2,44 6,00 6,00
(0]
r§ Il |nugbmosol xonn 5,4 5,40 5,40
= leCmHUYHasi
Il |knemka 19,3 19,30 19,30
9 IV |nugpmosoli xonn 5,4 2,57 5,40 5,40
é vV |mam6yp 5,9 590| 590
g JIeCMHUYHasi
= VI |knemka 19,4 19,40 19,40
Vil |mambyp 6,2 2,52 6,20 6,20
] Vill  |nugpmoeodi xonn 6,5 6,50 6,50
,g‘ JIeCMHUYHasi
S IX |«knemka 20,0 20,00 20,00
X  |kopudop 4,6 4,60 4,60
Xl |mambyp 4,6 4,60 4,60
3 Xl |mambyp 5,9 2,65 5,90 5,90
2
S Xill | nugpmosoli xonn 5,4 5,40 5,40
2 JIeCMHUYHasi
XIV |knemka 19,8 19,80 19,80
Umoezo 134,4 134,40 | 134,40 134,4
Bcezo no | amaxy: 1055,8 876,7 436,0 440,7 44,7 134,40 134,40 88,6| 1099,7
A Il |ke.5 1 npuxoxasi 12,6 12,6 12,6 2,56
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,5 18,5 18,5
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,56 3,6 3,5
6 Xunasi 12,6 12,6 12,6
HMmoeo: 60,7 60,7 31,1 29,6
7 |nodxus 2,7 2,7 5,4
Bcezo no kse. 5 63,4 60,7 31,1 29,6 2,7 54 66,1
A Il |ke.6 1 npuxoxasi 7,4 7.4 7.4 2,56
2 caHy3sern 4,9 4.9 4,9
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,8 11,8 11,8
Umoeo: 42,0 42,0 17,9 24,1
5 1100XKUSs1 2,6 2,6 52
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Bcezo no k8. 6 44,6 42,0 17,9 24,1 2,6 5,2 47,2
A Il |ke.7 1 npuxoxasi 7.4 7.4 7,4 2,56
2 KYXHS1 11,8 11,8 11,8
3 xunasi 17,9 17,9 17,9
4 caHysen 4,9 4,9 4,9
Umoeo: 42,0 42,0 17,9 24,1
5 1100XKUSs1 2,6 2,6 52
Bcezo no k8. 7 44,6 42,0 17,9 24,1 2,6 5,2 47,2
A Il |ke.8 1 npuxoxasi 12,5 12,5 12,5 2,56
2 XKunasi 12,7 12,7 12,7
3 8aHHasi 3,6 3,6 3,6
4 myanem 2,2 2,2 2,2
5 xunasi 18,9 18,9 18,9
6 KYXHSI 11,4 11,4 11,4
HMmoeo: 61,3 61,3 31,6 29,7
7 |nodxus 2,7 2,7 5,4
Bcezo no ks. 8 64,0 61,3 31,6 29,7 2,7 54 66,7
A Il |ke.33 1 npuxoxasi 12,9 12,9 12,9 2,57
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,8 18,8 18,8
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,7 12,7 12,7
HMmoeo: 61,4 61,4 31,5 29,9
7 |nodxus 2,7 2,7 53
Bcezo no ke. 33 64,1 61,4 31,5 29,9 2,7 53 66,7
A Il |ke.34 1 npuxoxasi 7,4 7.4 7.4 2,57
2 caHysen 4,9 4,9 4,9
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,1 42,1 17,9 24,2
5 1100XKUS1 2,6 2,6 51
Bcezo no ke. 34 44,7 42,1 17,9 24,2 2,6 5,1 47,2
A Il |ke.35 1 npuxoxasi 7.4 7.4 7,4 2,57
2 KYXHS1 12,0 12,0 12,0
3 xunasi 17,9 17,9 17,9
4 caHysen 4,9 4,9 4,9
HMmoeo: 42,2 42,2 17,9 24,3
5 1100XKUSs1 2,6 2,6 51
Bcezo o k8. 35 44,8 42,2 17,9 24,3 2,6 5,1 47,3
A Il |ke.36 1 npuxoxasi 12,5 12,5 12,5 2,57
2 Xunasi 12,5 12,5 12,5
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
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5 xunasi 18,6 18,6 18,6
6 |KyxHs 11,4 11,4 11,4
HMmoeo: 60,6 60,6 31,1 29,5
7 |nodxus 2,7 2,7 5,3
Bcezo no ke. 36 63,3 60,6 31,1 29,5 2,7 53 65,9
A Il |ke.61 1 npuxoxasi 19,1 19,1 19,1 2,52
2 |eapdepobHas 3,4 3,4 3,4
3 KYXHs1 12,7 12,7 12,7
4 xunasi 21,7 21,7 21,7
5 xunasi 13,1 13,1 13,1
6 Xunasi 15,0 15,0 15,0
7 8aHHasi 4,2 4,2 4,2
8 myanem 1,8 1,8 1,8
HMmoeo: 91,0 91,0 49,8 41,2
9  |nodxus 2,3 2,3 4,6
10  |nodxusi 2,2 2,2 4,3
Bceeo no ks. 61 95,5 91,0 49,8 41,2 4,5 8,9 99,9
A Il |ke.62 1 npuxoxasi 3,2 32 32 2,52
2 caHysen 4,0 4,0 4,0
3 Xunasi 18,5 18,5 18,5
4 2apOepobHasi 2,0 2,0 2,0
5 KYXHS1 9,1 9,1 9,1
HMmoeo: 36,8 36,8 18,5 18,3
6 |nodxus 2,2 2,2 4,5
Bcezo no ke. 62 39,0 36,8 18,5 18,3 2,2 4,5 41,3
A Il |ke.63 1 npuxoxasi 3,1 3,1 3,1 2,52
2 KYXHS1 9,1 9,1 9,1
3 2apOepobHasi 2,0 2,0 2,0
4 |xunas 18,6 18,6 18,6
5 caHysen 4,0 4,0 4,0
Hmoeo: 36,8 36,8 18,6 18,2
6 |nodxus 2,2 2,2 4,5
Bcezo no ke. 63 39,0 36,8 18,6 18,2 2,2 4,5 41,3
A Il |ke.64 1 npuxoxasi 19,2 19,2 19,2 2,52
2 myanem 1,7 1,7 1,7
3 s8aHHasi 4,2 4,2 4,2
4 xunasi 15,0 15,0 15,0
5 Xunasi 16,9 16,9 16,9
6 xunasi 25,8 25,8 25,8
7 |KyxHs 12,7 12,7 12,7
8 2apOepobHasi 3,7 3,7 3,7
Hmoeo: 99,2 99,2 57,7 41,5
9 |nodxus 2,3 2,3 4,6
10 |nodxus 3,0 3,0 6,0
Bcezo no ke. 64 104,5 99,2 57,7 41,5 53 10,6 109,8
[ |
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A Il |ke.93 1 npuxoxasi 12,9 12,9 12,9 2,52
2 KYXHS1 11,7 11,7 11,7
3 xunasi 19,3 19,3 19,3
4 myanem 2,1 2,1 2,1
5 8aHHasi 3,6 3,6 3,6
6 Xunasi 12,8 12,8 12,8
Umoeo: 62,3 62,3 32,1 30,2
7 |nodxus 2,7 2,7 5,4
Bcezo no ke. 93 65,0 62,3 32,1 30,2 2,7 54 67,7
A Il |ke.94 1 npuxoxasi 7.4 7.4 7,4 2,52
2 caHy3sen 5,0 5,0 5,0
3 xunasi 17,8 17,8 17,8
4 KYXHS1 11,9 11,9 11,9
HMmoeo: 42,1 42,1 17,8 24,3
5 1100XKUSs1 2,6 2,6 51
Bcezo no ke. 94 44,7 42,1 17,8 24,3 2,6 5,1 47,2
A Il |ke.95 1 npuxoxasi 7.4 7.4 7,4 2,52
2 KYXHS1 11,8 11,8 11,8
3 xunasi 17,8 17,8 17,8
4 caHysen 4,9 4,9 4,9
Umoeo: 41,9 41,9 17,8 24,1
5 1100XKUS1 2,6 2,6 51
Bcezo o k8. 95 44,5 41,9 17,8 24,1 2,6 5,1 47,0
A Il |ke.96 1 npuxoxasi 12,6 12,6 12,6 2,52
2 Xunasi 12,5 12,5 12,5
3 8aHHasi 3,6 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,9 18,9 18,9
6 KYXHS1 11,7 11,7 11,7
Umoeo: 61,3 61,3 31,4 29,9
7 |nodxus 2,7 2,7 5,4
Bcezo no ke. 96 64,0 61,3 31,4 29,9 2,7 54 66,7
YImoeo no 1-komHam. 345,9 325,9 144,3 181,6 20,0 39,8 365,7
Mimoeo rno 2-komMHam. 383,8 367,6 188,8 178,8 16,2 32,2 399,8
Mimoeo no 3-komHam. 200,0 190,2 107,5 82,7 9,8 19,5 209,7
Wmozo no keapmupam 929,7 883,7 440,6 443,1 46,0 91,5 975,2
fleCmHUYHasi
I'nod. I |knemka 19,4 19,40| 19,40
I oo fiecCmHuYHasi
’ 1l Knemka 19,5 19,50 19,50
) fiecCmHuYHasi
o i |knemxa 24,5 24,50| 24,50
IV 100. fiecCmHuYHasi
o v |kremka 19,9 19,90 19,90
Umoezo 83,3 83,30| 83,30 83,3
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Bcezo no Il amaxy: 1013,0 883,7 440,6 443,1 46,0 83,30 83,30 91,5| 1058,5
A Il |ke.9 1 npuxoxasi 12,6 12,6 12,6 2,54
2 KYXHS1 11,3 11,3 11,3
3 xunasi 18,6 18,6 18,6
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,5 12,5 12,5
HMmoeo: 60,6 60,6 31,1 29,5
7 |nodxus 2,7 2,7 5,4
Bcezo no ks. 9 63,3 60,6 31,1 29,5 2,7 54 66,0
A Il |ke.10 1 npuxoxasi 7.5 7.5 7,5 2,54
2 caHysen 4,9 4,9 4,9
3 xunasi 18,0 18,0 18,0
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,3 42,3 18,0 24,3
5 1100XKUSs1 2,6 2,6 51
Bcezo o ks. 10 44,9 42,3 18,0 24,3 2,6 5,1 47,4
A Il |ke.11 1 npuxoxasi 7.4 7.4 7,4 2,54
2 KYXHS1 11,9 11,9 11,9
3 xunasi 17,9 17,9 17,9
4 caHy3sen 5,0 5,0 5,0
HMmoeo: 42,2 42,2 17,9 24,3
5 1100XKUSs1 2,6 2,6 52
Bcezo no ks. 11 44,8 42,2 17,9 24,3 2,6 5,2 47,4
A Il |ke.12 1 npuxoxasi 12,9 12,9 12,9 2,54
2 Xunasi 12,8 12,8 12,8
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,8 18,8 18,8
6 KYXHSI 11,4 11,4 11,4
HMmoeo: 61,5 61,5 31,6 29,9
7 |nodxus 2,7 2,7 5,4
Bcezo no ke. 12 64,2 61,5 31,6 29,9 2,7 54 66,9
A Il |ke.37 1 npuxoxasi 12,8 12,8 12,8 2,54
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,8 18,8 18,8
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,7 12,7 12,7
HMmoeo: 61,3 61,3 31,5 29,8
7 |nodxus 2,7 2,7 53
Bcezo no ke. 37 64,0 61,3 31,5 29,8 2,7 53 66,6
A Il |ke.38 npuxoxasi 7.4 7.4 7,4 2,54
2 caHysen 4,9 4,9 4,9
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3 xunasi 17,8 17,8 17,8
4 KYXHS1 11,8 11,8 11,8
Umoeo: 41,9 41,9 17,8 24,1
5 1100XKUSs1 2,6 2,6 51
Bcezo o k8. 38 44,5 41,9 17,8 24,1 2,6 5,1 47,0
A Il |ke.39 1 npuxoxasi 7,3 7,3 7,3 2,54
2 KYXHS1 11,9 11,9 11,9
3 xunasi 17,9 17,9 17,9
4 caHysen 4,9 4,9 4,9
Umoeo: 42,0 42,0 17,9 24,1
5 1100XKUSs1 2,6 2,6 51
Bcezo o k8. 39 44,6 42,0 17,9 24,1 2,6 5,1 47,1
A 1l |ke.40 1 npuxoxasi 12,4 12,4 12,4 2,54
2 Xunasi 12,5 12,5 12,5
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,5 18,5 18,5
6 |KyxHs 11,4 11,4 11,4
Wmoeo: 60,4 60,4 31,0 29,4
7 |nodxus 2,7 2,7 54
Bcezo o ke. 40 63,1 60,4 31,0 29,4 2,7 54 65,8
A Ill |ke.65 1 npuxoxasi 19,0 19,0 19,0 2,56
2 |eapdepobHas 3,4 3,4 34
3 KYXHs1 12,7 12,7 12,7
4 Xunasi 21,6 21,6 21,6
5 XKunas 13,1 13,1 13,1
6 |xunas 15,0 15,0 15,0
7 8aHHasi 4,2 4,2 4,2
8 myanem 1,7 1,7 1,7
HMmoeo: 90,7 90,7 49,7 41,0
9 1100XKUSs1 2,2 2,2 4,3
10 |nodxus 2,2 2,2 4,3
Bceeo no kse. 65 95,1 90,7 49,7 41,0 4,4 8,6 99,3
A Il |ke.66 1 npuxoxasi 3,2 3,2 3,2 2,56
2 caHysen 4,0 4,0 4,0
3  |kunas 18,5 18,5 18,5
4 2apOepobHasi 2,0 2,0 2,0
5 KYXHS1 9,1 9,1 9,1
HMmoeo: 36,8 36,8 18,5 18,3
6 1100XKUSs1 2,2 2,2 4,5
Bcezo no ke. 66 39,0 36,8 18,5 18,3 2,2 4,5 41,3
A Il |ke.67 1 npuxoxasi 3,2 3,2 3,2 2,56
2 KYXHS1 9,1 9,1 9,1
3 2apOepobHasi 1,9 1,9 1,9
4 |xunas 18,5 18,5 18,5
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5 caHysen 4,0 4,0 4,0
Hmoeo: 36,7 36,7 18,5 18,2
6 7100XKUS 2,2 2,2 4,5
Bcezo no ke. 67 38,9 36,7 18,5 18,2 2,2 4,5 41,2
A Il |ke.68 1 npuxoxasi 19,1 19,1 19,1 2,56
2 myanem 1,8 1,8 1,8
3 s8aHHasi 4,2 4,2 4,2
4 xunasi 15,0 15,0 15,0
5 |xunas 16,9 16,9 16,9
6 xunasi 25,8 25,8 25,8
7 KYXHS1 12,8 12,8 12,8
8 2apOepobHasi 3,7 3,7 3,7
Hmoeo: 99,3 99,3 57,7 41,6
9 1100XKUS 2,2 2,2 4,3
10 |nodxus 3,1 3,1 6,1
Bcezo no ke. 68 104,6 99,3 57,7 41,6 53 10,4 109,7
A 1l |ke.97 1 npuxoxasi 12,9 12,9 12,9 2,52
2 KYXHS1 11,6 11,6 11,6
3 xunasi 19,3 19,3 19,3
4 myanem 2,1 2,1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,8 12,8 12,8
Umoeo: 62,2 62,2 32,1 30,1
7 |nodxus 2,7 2,7 53
Bcezo no ke. 97 64,9 62,2 32,1 30,1 2,7 53 67,5
A 1l |ke.98 1 npuxoxasi 7.4 7.4 7,4 2,52
2 caHysen 4,9 4,9 4,9
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,1 42,1 17,9 24,2
5 1100XKUSs1 2,5 2,5 51
Bcezo o ks. 98 44,6 42,1 17,9 24,2 2,5 5,1 47,2
A 1l |ke.99 1 npuxoxasi 7.4 7.4 7,4 2,52
2 KYXHS1 11,8 11,8 11,8
3 xunasi 17,8 17,8 17,8
4 caHysen 4,9 4,9 4,9
Umoeo: 41,9 41,9 17,8 24,1
5 1100XKUSs1 2,6 2,6 51
Bcezo o k8. 99 44,5 41,9 17,8 24,1 2,6 5,1 47,0
A Il |ke.100 1 npuxoxasi 12,6 12,6 12,6 2,52
2 Xunasi 12,5 12,5 12,5
3 8aHHasi 3,4 3,4 3,4
4 myanem 2,1 2.1 2,1
5 xunasi 19,0 19,0 19,0
6 KYXHS1 11,6 11,6 11,6
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HMmoeo: 61,2 61,2 31,5 29,7
7 |nodxus 2,7 2,7 5,4
Bceeo no ke.100 63,9 61,2 31,5 29,7 2,7 54 66,6
Mimoeo no 1-komHam. 345,8 325,9 144,3 181,6 19,9 39,7 365,6
Mimoeo rno 2-komMHam. 383,4 367,2 188,8 178,4 16,2 32,2 399,4
Mimoeo no 3-komHam. 199,7 190,0 107,4 82,6 9,7 19,0 209,0
Wmozo no keapmupam 928,9 883,1 440,5 442,6 45,8 90,9 974,0
JIeCMHUYHasi
I'nod. I |knemka 19,3 19,30| 19,30
I oo JIeCMHUYHasi
' Il |knemka 19,4 19,40 19,40
) JIeCMHUYHasi
Il |knemka 24,6 24,60 24,60
IV 100. JIeCMHUYHasi
IV |knemka 19,9 19,90 19,90
Nmoeo 83,2 83,20 83,20 83,2
Bcezo no lll amaxy: 1012,1 883,1 440,5 442,6 45,8 83,20 83,20 90,9| 1057,2
A IV |ke.13 1 npuxoxasi 12,6 12,6 12,6 2,54
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,5 18,5 18,5
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,5 12,5 12,5
Umoeo: 60,6 60,6 31,0 29,6
7 |nodxus 2,5 2,5 51
Bcezo no ke. 13 63,1 60,6 31,0 29,6 2,5 5,1 65,7
A IV |ke.14 1 npuxoxasi 7.4 7.4 7,4 2,54
2 caHy3sern 4,9 4.9 4,9
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,1 42,1 17,9 24,2
5 1100XKUSs1 2,5 2,5 5,0
Bcezo no ke. 14 44,6 42,1 17,9 24,2 2,5 5,0 47,1
A IV |ke.15 1 npuxoxasi 7.4 7.4 7,4 2,54
2 KYXHS1 11,9 11,9 11,9
3 xunasi 17,9 17,9 17,9
4 caHysen 4,9 4,9 4,9
Umoeo: 42,1 42,1 17,9 24,2
5 1100XKUS1 2,5 2,5 51
Bcezo o k8. 15 44,6 42,1 17,9 24,2 2,5 5,1 47,2
A IV |ke.16 1 npuxoxasi 12,8 12,8 12,8 2,54
2 Xunasi 12,9 12,9 12,9
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
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5 xunasi 18,8 18,8 18,8
6 KYXHSI 11,4 11,4 11,4
HMmoeo: 61,5 61,5 31,7 29,8
7 |nodxus 2,5 2,5 5,1
Bcezo o k8. 16 64,0 61,5 31,7 29,8 2,5 5,1 66,6
A IV |ke.41 1 npuxoxasi 12,8 12,8 12,8 2,56
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,8 18,8 18,8
4 myanem 2,1 2,1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,8 12,8 12,8
HMmoeo: 61,4 61,4 31,6 29,8
7 |nodxus 2,6 2,6 5,3
Bcezo no ke. 41 64,0 61,4 31,6 29,8 2,6 5,3 66,7
A IV |ke.42 1 npuxoxasi 7.4 7.4 7,4 2,56
2 caHysen 4,9 4,9 4,9
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,1 42,1 17,9 24,2
5 1100XKUSs1 2,6 2,6 5,1
Bcezo no ke. 42 44,7 42,1 17,9 24,2 2,6 5,1 47,2
A IV |ke.43 1 npuxoxasi 7.4 7.4 7,4 2,56
2 KYXHS1 11,9 11,9 11,9
3 xunasi 18,0 18,0 18,0
4 caHysen 4,9 4,9 4,9
Umoeo: 42,2 42,2 18,0 24,2
5 1100XKUS1 2,6 2,6 5,2
Bcezo o k8. 43 44,8 42,2 18,0 24,2 2,6 5,2 47,4
A IV |ke.44 1 npuxoxasi 12,5 12,5 12,5 2,56
2 Xunasi 12,6 12,6 12,6
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,5 18,5 18,5
6 KYXHSI 11,4 11,4 11,4
HMmoeo: 60,6 60,6 31,1 29,5
7 |nodxus 2,7 2,7 5,3
Bcezo no ke. 44 63,3 60,6 31,1 29,5 2,7 5,3 65,9
A IV |ke.69 1 npuxoxasi 19,0 19,0 19,0 2,55
2 |eapdepobHasi 3,4 3,4 3,4
3 KYXHs1 12,7 12,7 12,7
4 Xunasi 21,6 21,6 21,6
5 xunasi 13,0 13,0 13,0
6 Kunasi 15,0 15,0 15,0
7 8aHHasi 4,2 4,2 4,2
8 myanem 1,8 1,8 1,8
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HMmoeo: 90,7 90,7 49,6 41,1
9 1100XKUSs1 2,2 2,2 4,3
10  |nodxus 2,2 2,2 4,3
Bcezo no ke. 69 95,1 90,7 49,6 41,1 4,4 8,6 99,3
A IV |ke.70 1 npuxoxasi 3,2 3,2 3,2 2,55
2 caHysen 4,0 4,0 4,0
3 Kunasi 18,5 18,5 18,5
4 2ap0epobHasi 1,9 1,9 1,9
5 KYXHS1 9,2 9,2 9,2
HMmoeo: 36,8 36,8 18,5 18,3
6 1100XKUSs1 2,2 2,2 4,4
Bcezo no ke. 70 39,0 36,8 18,5 18,3 2,2 4,4 41,2
A IV |ke.71 1 npuxoxasi 3,2 3,2 3,2 2,55
2 |KyxHs 9,2 9,2 9,2
3 2apOepobHasi 2,0 2,0 2,0
4 Kunasi 18,4 18,4 18,4
5 caHysen 3,9 3,9 3,9
Umoeo: 36,7 36,7 18,4 18,3
6 1100XKUS 2,2 2,2 4,5
Bcezo no ke. 71 38,9 36,7 18,4 18,3 2,2 4,5 41,2
A IV |ke.72 1 npuxoxasi 19,0 19,0 19,0 2,55
2 myanem 1,7 1,7 1,7
3 s8aHHasi 4,2 4,2 4,2
4 xunasi 15,0 15,0 15,0
5 |xunas 16,9 16,9 16,9
6 xunasi 25,7 25,7 25,7
7 KYXHS1 12,7 12,7 12,7
8 2apOepobHasi 3,7 3,7 3,7
Umoeo: 98,9 98,9 57,6 41,3
9 7100XKUS 2,2 2,2 4,3
10 |nodxus 3,1 3,1 6,1
Bcezo no ke. 72 104,2 98,9 57,6 41,3 53 10,4 109,3
A IV |ke.101 1 npuxoxasi 12,8 12,8 12,8 2,51
2 KYXHS1 11,7 11,7 11,7
3 xunasi 19,2 19,2 19,2
4 myanem 2,1 2,1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,8 12,8 12,8
HMmoeo: 62,1 62,1 32,0 30,1
7 |nodxus 2,7 2,7 5,4
Bcezo no kse. 101 64,8 62,1 32,0 30,1 2,7 54 67,5
A IV |ke.102 1 npuxoxasi 7.4 7.4 7,4 2,51
2 caHysen 4,9 4,9 4,9
3 xunasi 17,7 17,7 17,7
4 KYXHS1 11,8 11,8 11,8
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Umoeo: 41,8 41,8 17,7 24,1
5 |nodxus 2,5 2,5 5,0
Bcezo no ke. 102 44,3 41,8 17,7 24,1 2,5 5,0 46,8
A IV |ke.103 1 npuxoxasi 7.4 7.4 7,4 2,51
2 KYXHS1 11,8 11,8 11,8
3 xunasi 17,7 17,7 17,7
4 caHysen 4,9 4,9 4,9
Umoeo: 41,8 41,8 17,7 24,1
5 |nodxus 2,5 2,5 5,0
Bcezo no ke. 103 44,3 41,8 17,7 24,1 2,5 5,0 46,8
A IV |ke.104 1 npuxoxasi 12,5 12,5 12,5 2,51
2 |xunas 12,4 12,4 12,4
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,9 18,9 18,9
6 KYXHS1 11,7 11,7 11,7
HMmoeo: 61,1 61,1 31,3 29,8
7 |nodxus 2,7 2,7 53
Bcezo no ke.104 63,8 61,1 31,3 29,8 2,7 5,3 66,4
Mmoeo no 1-komHam. 345,2 325,6 144,0 181,6 19,6 39,3 364,9
Mimoeo rno 2-komMHam. 383,0 367,3 188,7 178,6 15,7 31,5 398,8
Mimoeo no 3-komHam. 199,3 189,6 107,2 82,4 9,7 19,0 208,6
Wmozo no keapmupam 927,5 882,5 439,9 442,6 45,0 89,8 972,3
JIeCMHUYHasi
Imoo. | |nemka 19,3 19,30 19,30
I oo JIeCMHUYHasi
' Il |knemka 19,5 19,50 19,50
Il nod JIeCMHUYHasi
' I |knemxa 24,5 24,50| 24,50
IV 100 JIeCMHUYHasi
| v |knemka 20,0 20,00| 20,00
Umoezo 83,3 83,30| 83,30 83,3
Bcezo no IV amaxy: 1010,8 882,5 439,9 442,6 45,0 83,30 83,30 89,8| 1055,6
A V |ke. 17 1 |npuxoxas 12,6 12,6 12,6 2,54
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,5 18,5 18,5
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,5 12,5 12,5
Umoeo: 60,6 60,6 31,0 29,6
7 |nodxus 2,5 2,5 51
Bcezo no ke. 17 63,1 60,6 31,0 29,6 2,5 5,1 65,7
A V |ke.18 1 npuxoxasi 7.4 7.4 7.4 254
2 caHy3sern 4,9 4.9 4,9
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3 xunasi 18,0 18,0 18,0
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,2 42,2 18,0 24,2
5 1100XKUSs1 2,5 2,5 5,0
Bcezo no ke. 18 44,7 42,2 18,0 24,2 2,5 5,0 47,2
A V |ke.19 1 npuxoxasi 7.4 7.4 7,4 2,54
2 KYXHS1 11,9 11,9 11,9
3 xunasi 18,0 18,0 18,0
4 caHysen 4,9 4,9 4,9
Umoeo: 42,2 42,2 18,0 24,2
5 1100XKUSs1 2,6 2,6 5,1
Bcezo o ks. 19 44,8 42,2 18,0 24,2 2,6 5,1 47,3
A V |ke.20 1 npuxoxasi 12,8 12,8 12,8 2,54
2 Xunasi 12,8 12,8 12,8
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,8 18,8 18,8
6 |KyxHs 11,4 11,4 11,4
HMmoeo: 61,4 61,4 31,6 29,8
7 |nodxus 2,5 2,5 51
Bcezo no ke. 20 63,9 61,4 31,6 29,8 2,5 5,1 66,5
A V  |ke.45 1 npuxoxasi 12,8 12,8 12,8 2,52
2 KYXHS1 11,5 11,5 11,5
3 xunasi 18,8 18,8 18,8
4 myanem 2,1 2,1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,8 12,8 12,8
HMmoeo: 61,5 61,5 31,6 29,9
7 |nodxus 2,5 2,5 5,0
Bcezo no ke. 45 64,0 61,5 31,6 29,9 2,5 5,0 66,5
A V  |ke.46 1 npuxoxasi 7.4 7.4 7,4 2,52
2 caHysen 4,9 4,9 4,9
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,8 11,8 11,8
Umoeo: 42,0 42,0 17,9 24,1
5 1100XKUSs1 2,6 2,6 5,1
Bcezo o k8. 46 44,6 42,0 17,9 24,1 2,6 5,1 47,1
A V  |ke.47 1 |npuxoxas 7.4 7.4 7,4 2,52
2 KYXHS1 11,8 11,8 11,8
3 xunasi 17,9 17,9 17,9
4 caHysen 5,0 5,0 5,0
Umoeo: 42,1 42,1 17,9 24,2
5 1100XKUSs1 2,6 2,6 5,1
Bcezo no ke. 47 44,7 42,1 17,9 24,2 2,6 5,1 47,2
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A V  |ke.48 1 npuxoxasi 12,5 12,5 12,5 2,52
2 Xunasi 12,5 12,5 12,5
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 |xunas 18,4 18,4 18,4
6 |KyxHs 11,4 11,4 11,4
HMmoeo: 60,4 60,4 30,9 29,5
7 |nodxus 2,7 2,7 54
Bcezo o ke. 48 63,1 60,4 30,9 29,5 2,7 54 65,8
A V |ke.73 1 npuxoxasi 19,0 19,0 19,0 2,52
2 |eapdepobHas 3,4 3,4 34
3 KYXHs1 12,7 12,7 12,7
4 XKunasi 21,5 21,5 21,5
5 xunasi 13,1 13,1 13,1
6 Xunasi 14,8 14,8 14,8
7 8aHHasi 4,2 4,2 4,2
8 myanem 1,8 1,8 1,8
HMmoeo: 90,5 90,5 49,4 41,1
9 1100XKUSs1 2,1 2,1 4,3
10 |nodxus 2,2 2,2 4,3
Bcezo no k8. 73 94,8 90,5 49,4 41,1 4,3 8,6 99,1
A V |ke.74 1 npuxoxasi 3,1 31 31 2,52
2 caHysen 4,0 4,0 4,0
3  |xkunas 18,5 18,5 18,5
4 2ap0epobHasi 1,9 1,9 1,9
5 KYXHS1 9,2 9,2 9,2
HMmoeo: 36,7 36,7 18,5 18,2
6 1100XKUS1 2,2 2,2 4,4
Bcezo no ke. 74 38,9 36,7 18,5 18,2 2,2 4,4 41,1
A V |ke.75 1 npuxoxasi 3,2 3,2 3,2 2,62
2 KYXHS1 9,2 9,2 9,2
3 2ap0epobHasi 2,0 2,0 2,0
4 |xunas 18,5 18,5 18,5
5 caHysen 4,0 4,0 4,0
Hmoeo: 36,9 36,9 18,5 18,4
6 1100XKUS 2,2 2,2 4,4
Bcezo no k8. 75 39,1 36,9 18,5 18,4 2,2 4,4 41,3
A V |ke.76 1 npuxoxasi 19,1 19,1 19,1 2,52
2 myanem 1,8 1,8 1,8
3 s8aHHasi 4,2 4,2 4,2
4 xunasi 15,0 15,0 15,0
5 Xunasi 17,0 17,0 17,0
6 XKunas 25,7 25,7 25,7
7 KYXHS1 12,8 12,8 12,8
8 2apOepobHasi 3,7 3,7 3,7
Hmoeo: 99,3 99,3 57,7 41,6
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9 1100XKUS 2,2 2,2 4,3
10 |nodxus 30 3,0 6,0
Bcezo no ke. 76 104,5 99,3 57,7 41,6 52 10,3 109,6
A V |ke.105 1 npuxoxasi 12,8 12,8 12,8 2,55
2 KYXHS1 11,7 11,7 11,7
3 xunasi 19,3 19,3 19,3
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,9 12,9 12,9
Umoeo: 62,3 62,3 32,2 30,1
7 |nodxus 2,5 2,5 51
Bcezo no ke. 105 64,8 62,3 32,2 30,1 2,5 5,1 67,4
A V |ke.106 1 npuxoxasi 7.4 7.4 7,4 2,55
2 caHy3sern 4,9 4.9 4,9
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,1 42,1 17,9 24,2
5 1100XKUSs1 2,5 2,5 5,0
Bcezo no ke. 106 44,6 42,1 17,9 24,2 2,5 5,0 47,1
A V |ke.107 1 npuxoxasi 7,3 7,3 7,3 2,55
2 KYXHS1 11,9 11,9 11,9
3 xunasi 17,7 17,7 17,7
4 caHysen 4,9 4,9 4,9
Umoeo: 41,8 41,8 17,7 24,1
5 1100XKUS1 2,5 2,5 5,0
Bcezo no ke. 107 44,3 41,8 17,7 24,1 2,5 5,0 46,8
A V |ke.108 1 npuxoxasi 12,5 12,5 12,5 2,55
2 Xunasi 12,5 12,5 12,5
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 19,0 19,0 19,0
6 KYXHS1 11,6 11,6 11,6
HMmoeo: 61,2 61,2 31,5 29,7
7 |nodxus 2,5 2,5 5,0
Bcezo no ke.108 63,7 61,2 31,5 29,7 2,5 5,0 66,2
Mimoeo no 1-komHam. 345,7 326,0 144,4 181,6 19,7 39,1 365,1
Mimoeo no 2-komMHam. 382,6 367,4 188,8 178,6 15,2 30,7 398,1
Mimoeo no 3-komHam. 199,3 189,8 107,1 82,7 9,5 18,9 208,7
Wmozo no keapmupam 927,6 883,2 440,3 442,9 44,4 88,7 971,9
JIeCMHUYHasi
I'nod. I |knemka 19,2 19,20| 19,20
I oo JIeCMHUYHasi
’ 1l Knemka 19,5 19,50 19,50
Il nod JIeCMHUYHasi
' Il |knemka 24,6 24,60 24,60
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IV 100 nieCmHuyHasi
IV |knemka 19,9 19,90 19,90
Mmoezo 83,2 83,20 83,20 83,2
Bcezo no V amaxy: 1010,8 883,2 440,3 442,9 44,4 83,20 83,20 88,7| 1055,1
A VI |ke.21 1 npuxoxasi 12,6 12,6 12,6 2,56
2 |KyxHs 11,4 11,4 11,4
3 Xunasi 18,6 18,6 18,6
4 myanem 2,1 2,1 2,1
5 s8aHHasi 3,5 3,5 3,56
6 xunasi 12,5 12,5 12,5
Umoeo: 60,7 60,7 31,1 29,6
7 |nodxus 2,5 25 5,1
Bcezo no ke. 21 63,2 60,7 31,1 29,6 2,5 5,1 65,8
A VI |ke.22 1 npuxoxasi 7.4 7.4 7,4 2,56
2 caHysen 4,9 4,9 4,9
3  |xunas 17,9 17,9 17,9
4 KYXHs1 11,8 11,8 11,8
Umoeo: 42,0 42,0 17,9 24,1
5  |nodxus 2,5 25 5,1
Bcezo no ke. 22 44,5 42,0 17,9 24,1 2,5 51 47,1
A VI |ke.23 1 npuxoxasi 7.4 7.4 7,4 2,56
2 KYXHs1 11,9 11,9 11,9
3 |xunas 18,0 18,0 18,0
4 caHysen 4,9 4,9 4,9
Umoeo: 42,2 42,2 18,0 24,2
5  |nodxus 2,5 25 5,1
Bcezo no ke. 23 44,7 42,2 18,0 24,2 2,5 51 47,3
A VI |ke.24 1 npuxoxasi 12,8 12,8 12,8 2,56
2 xunasi 12,8 12,8 12,8
3 s8aHHasi 3,5 3,5 3,56
4 myanem 2,1 2,1 2,1
5 |xunas 18,8 18,8 18,8
6 |KyxHs 11,4 11,4 11,4
Umoeo: 61,4 61,4 31,6 29,8
7 |nodxus 2,5 25 5,1
Bceeo no ke. 24 63,9 61,4 31,6 29,8 2,5 51 66,5
A VI |ke.49 1 npuxoxasi 12,9 12,9 12,9 2,56
2 KYXHs1 11,5 11,5 11,5
3 |xunas 18,9 18,9 18,9
4 myanem 2,1 2,1 2,1
5 s8aHHasi 3,5 3,5 3,56
6 xunasi 12,8 12,8 12,8
Umoeo: 61,7 61,7 31,7 30,0
7 7100XKUST 2,5 2,5 5,0
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Bcezo no ke. 49 64,2 61,7 31,7 30,0 2,5 5,0 66,7
A VI |ke.50 1 npuxoxasi 7.4 7.4 7,4 2,56
2 caHysen 5,0 5,0 5,0
3 xunasi 17,9 17,9 17,9
4 KYXHS1 11,9 11,9 11,9
Umoeo: 42,2 42,2 17,9 24,3
5 1100XKUSs1 2,5 2,5 5,0
Bcezo no ke. 50 44,7 42,2 17,9 24,3 2,5 5,0 47,2
A VI |ke.51 1 npuxoxasi 7,5 7.5 7,5 2,56
2 KYXHS1 11,8 11,8 11,8
3 xunasi 17,8 17,8 17,8
4 caHysen 4,9 4,9 4,9
Umoeo: 42,0 42,0 17,8 24,2
5 1100XKUSs1 2,5 2,5 51
Bcezo no k8. 51 44,5 42,0 17,8 24,2 2,5 5,1 47,1
A VI |ke.52 1 npuxoxasi 12,4 12,4 12,4 2,56
2 Xunasi 12,6 12,6 12,6
3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,6 18,6 18,6
6 |KyxHs 11,4 11,4 11,4
Hmoeo: 60,6 60,6 31,2 29,4
7 |nodxus 2,6 2,6 51
Bcezo no ke. 52 63,2 60,6 31,2 29,4 2,6 5,1 65,7
A VI |ke.77 1 npuxoxasi 19,0 19,0 19,0 2,56
2 |eapdepobHas 3,4 3,4 3,4
3 KYXHs1 12,7 12,7 12,7
4 xKunasi 21,7 21,7 21,7
5 XKunas 13,1 13,1 13,1
6 Xunasi 14,9 14,9 14,9
7 s8aHHasi 4,2 4,2 4,2
8 myanem 1,7 1,7 1,7
HMmoeo: 90,7 90,7 49,7 41,0
9  |nodxus 2,3 2,3 4,6
10 |nodxus 2,2 2,2 4,3
Bceeo no ks. 77 95,2 90,7 49,7 41,0 4,5 8,9 99,6
A VI |ke.78 1 npuxoxasi 32 3,2 3,2 2,56
2 caHysen 4,0 4,0 4,0
3  |xkunas 18,5 18,5 18,5
4 2apOepobHasi 2,0 2,0 2,0
5 KYXHS1 9,2 9,2 9,2
HMmoeo: 36,9 36,9 18,5 18,4
6 1100XKUSs1 2,2 2,2 4,5
Bcezo no ke. 78 39,1 36,9 18,5 18,4 2,2 4,5 41,4
[ |
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A VI |ke.79 1 npuxoxasi 3,2 3,2 3,2 2,56
2 KYXHS1 9,2 9,2 9,2
3 2ap0epobHasi 2,0 2,0 2,0
4 |xunas 18,6 18,6 18,6
5 caHysen 4,0 4,0 4,0
Hmoeo: 37,0 37,0 18,6 18,4
6 7100XKUS 2,2 2,2 4,4
Bcezo no k8. 79 39,2 37,0 18,6 18,4 2,2 4,4 41,4
A VI |ke.80 1 npuxoxasi 19,2 19,2 19,2 2,56
2 myanem 1,7 1,7 1,7
3 s8aHHasi 4,2 4,2 4,2
4 xunasi 14,9 14,9 14,9
5  |xunas 16,9 16,9 16,9
6 XKunas 25,7 25,7 25,7
7 KYXHS1 12,8 12,8 12,8
8 2apOepobHasi 3,7 3,7 3,7
Hmoeo: 99,1 99,1 57,5 41,6
9 |nodxus 2,3 2,3 4,6
10  |nodxus 3,0 3,0 6,0
Bcezo no ke. 80 104,4 99,1 57,5 41,6 53 10,6 109,7
A VI |ke.109 1 npuxoxasi 11,6 11,6 11,6 2,53
2 KYXHS1 11,9 11,9 11,9
3 xunasi 19,8 19,8 19,8
4 myanem 2,0 2,0 2,0
5 8aHHasi 3,7 3,7 3,7
6 Xunasi 12,8 12,8 12,8
Wmoeo: 61,8 61,8 32,6 29,2
7 |nodxus 2,5 2,5 5,0
Bcezo no ke. 109 64,3 61,8 32,6 29,2 2,5 5,0 66,8
A VI |ke.110 1 npuxoxasi 7.4 7.4 7,4 2,53
2 caHysen 4,8 4,8 4,8
3 xunasi 18,4 18,4 18,4
4 |KyxHs 11,4 11,4 11,4
Wmoeo: 42,0 42,0 18,4 23,6
5 1100XKUSs1 2,5 2,5 5,0
Bcezo no ke. 110 44,5 42,0 18,4 23,6 2,5 5,0 47,0
A VI |ke.111 1 npuxoxasi 7.4 7.4 7,4 2,53
2 KYXHS1 11,9 11,9 11,9
3 xunasi 17,8 17,8 17,8
4 caHysen 4,9 4,9 4,9
Umoeo: 42,0 42,0 17,8 24,2
5 1100XKUSs1 2,5 2,5 5,0
Bcezo no ke. 111 44,5 42,0 17,8 24,2 2,5 5,0 47,0
A VI |ke.112 npuxoxasi 12,6 12,6 12,6 2,53
2 Xunas 12,4 12,4 12,4
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3 8aHHasi 3,5 3,6 3,6
4 myanem 2,1 2.1 2,1
5 xunasi 18,9 18,9 18,9
6 KYXHS1 11,7 11,7 11,7
HMmoeo: 61,2 61,2 31,3 29,9
7 |nodxus 2,5 2,5 5,0
Bcezo no ke.112 63,7 61,2 31,3 29,9 2,5 5,0 66,2
HMimoeo no 1-komHam. 345,7 326,3 144,9 181,4 19,4 39,2 365,5
Mimoeo no 2-komHam. 382,5 367,4 189,5 177,9 15,1 30,3 397,7
Mimoeo no 3-komHam. 199,6 189,8 107,2 82,6 9,8 19,5 209,3
Wmozo no keapmupam 927,8 883,5 441,6 441,9 44,3 89,0 972,5
JIeCMHUYHasi
I'nod. I |knemka 19,4 19,40| 19,40
I oo JIeCMHUYHasi
' Il |knemka 19,4 19,40 19,40
) JIeCMHUYHasi
Il |knemka 24,5 24,50 24,50
IV 100. JIeCMHUYHasi
IV |knemka 19,9 19,90 19,90
Nmoeo 83,2 83,20 83,20 83,2
Bcezo no VI amaxy: 1011,0 883,5 441,6 441,9 44,3 83,20 83,20 89,0 1055,7
A Vil |ke.25 1 npuxoxasi 12,6 12,6 12,6 2,55
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,5 18,5 18,5
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,6 12,6 12,6
HMmoeo: 60,7 60,7 31,1 29,6
7 |nodxus 2,6 2,6 51
8  |nodxus 2,3 2,3 4,5
Bcezo no ke. 25 65,6 60,7 31,1 29,6 4,9 9,6 70,3
A Vil |ke.26 1 npuxoxasi 7.4 7.4 7,4 2,55
2 caHysen 4,9 4,9 4,9
3 Xunasi 17,9 17,9 17,9
4 KYXHs1 11,9 11,9 11,9
Umoeo: 42,1 42,1 17,9 24,2
5 7100XKUS 2,5 2,5 51
6 1100XKUSs1 2,2 2,2 4,4
Bcezo o ke. 26 46,8 42,1 17,9 24,2 4,7 9,5 51,6
A Vil |ke.27 1 npuxoxasi 7.4 7.4 7,4 2,55
2 KYXHS1 11,9 11,9 11,9
3 xunasi 18,0 18,0 18,0
4 caHysen 4,9 4,9 4,9
Umoeo: 42,2 42,2 18,0 24,2
5 1100XKUSs1 2,6 2,6 51
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6  nodxus 2,3 2,3 4,5
Bceeo no ks. 27 47,1 42,2 18,0 24,2 4,9 9,6 51,8
A Vil |ke.28 1 npuxoxasi 13,0 13,0 13,0 2,55
2 xunasi 12,8 12,8 12,8
3 g8aHHasi 3,5 3,5 3,56
4 myanem 2,1 2,1 2,1
5 Xunasi 18,7 18,7 18,7
6 KYXHs1 11,3 11,3 11,3
Hmoeo: 61,4 61,4 31,5 29,9
7 |nodxus 2,56 2,5 51
8 1100XKUSs1 2,2 2,2 4,5
Bcezo o ke. 28 66,1 61,4 31,5 29,9 4,7 9,6 71,0
A VIl |ke.53 1 npuxoxasi 12,8 12,8 12,8 2,54
2 KYXHS1 11,4 11,4 11,4
3 xunasi 18,8 18,8 18,8
4 myanem 2,1 2.1 2,1
5 8aHHasi 3,5 3,6 3,6
6 Xunasi 12,7 12,7 12,7
HMmoeo: 61,3 61,3 31,5 29,8
7 |nodxus 2,5 2,5 5,0
8 1100XKUS 2,2 2,2 4,4
Bcezo no ke. 53 66,0 61,3 31,5 29,8 4,7 5,0 66,3
A Vil |ke.54 1 npuxoxasi 7.4 7.4 7,4 2,54
2 caHysen 4,9 4,9 4,9
3 Xunasi 17,9 17,9 17,9
4 KYXHs1 11,9 11,9 11,9
Hmoeo: 42,1 42,1 17,9 24,2
5 7100XKUS 2,5 2,5 51
6 1100XKUSs1 2,2 2,2 4,5
Bcezo no ke. 54 46,8 42,1 17,9 24,2 4,7 9,6 51,7
A Vil |ke.55 1 npuxoxasi 7.4 7.4 7,4 2,54
2 KYXHS1 11,8 11,8 11,8
3 xunasi 18,0 18,0 18,0
4 caHysen 4,9 4,9 4,9
Umoeo: 42,1 42,1 18,0 24,1
5 1100XKUSs1 2,5 2,5 51
6 7100XKUS 2,2 2,2 4,5
Bceeo no k8. 55 46,8 42,1 18,0 24,1 4,7 9,6 51,7
A Vil |ke.56 1 npuxoxasi 12,6 12,6 12,6 2,54
2 xunasi 12,6 12,6 12,6
3 s8aHHasi 3,5 3,5 3,56
4  |myanem 2,1 2,1 2,1
5 |xunas 18,5 18,5 18,5
6 |KyxHs 11,4 11,4 11,4
Hmoeo: 60,7 60,7 31,1 29,6
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7 |nodxus 2,56 2,5 51
8  |nodxus 2,3 2,3 4,5
Bcezo o ke. 56 65,5 60,7 31,1 29,6 4,8 9,6 70,3
A Vil |ke.81 1 npuxoxasi 19,0 19,0 19,0 2,53
2 |eapdepobHas 3,4 3,4 3,4
3 KYXHs1 12,7 12,7 12,7
4 Xunasi 21,6 21,6 21,6
5 Xunas 13,1 13,1 13,1
6  |xunas 15,0 15,0 15,0
7 8aHHasi 4,2 4,2 4,2
8 myanem 1,7 1,7 1,7
HMmoeo: 90,7 90,7 49,7 41,0
9  |nodxus 2,3 2,3 4,6
10 |nodxusi 2,1 2,1 4,2
Bceeo no ks. 81 95,1 90,7 49,7 41,0 4,4 8,8 99,5
A Vil |ke.82 1 npuxoxasi 3,2 3,2 3,2 2,53
2 caHysen 4,0 4,0 4,0
3  |kunas 18,6 18,6 18,6
4 2apOepobHasi 1,9 1,9 1,9
5 KYXHS1 9,1 9,1 9,1
Hmoeo: 36,8 36,8 18,6 18,2
6 1100XKUS1 2,2 2,2 4,5
Bcezo o ke. 82 39,0 36,8 18,6 18,2 2,2 4,5 41,3
A VIl |ke.83 1 npuxoxasi 3,2 3,2 3,2 2,63
2 KYXHS1 9,1 9,1 9,1
3 2apOepobHasi 2,0 2,0 2,0
4 Xunasi 18,4 18,4 18,4
5 caHysen 4,0 4,0 4,0
Hmoeo: 36,7 36,7 18,4 18,3
6 7100XKUS 2,2 2,2 4,5
Bcezo no ke. 83 38,9 36,7 18,4 18,3 2,2 4,5 41,2
A Vil |ke.84 1 npuxoxasi 19,1 19,1 19,1 2,53
2 myanem 1,8 1,8 1,8
3 s8aHHasi 4,2 4,2 4,2
4 xunasi 14,9 14,9 14,9
5 Xunasi 17,0 17,0 17,0
6 xunasi 25,8 25,8 25,8
7 KYXHS1 12,8 12,8 12,8
8 |eapdepobHasi 3,6 3,6 3,6
Hmoeo: 99,2 99,2 57,7 41,5
9 |nodxus 2,3 2,3 4,6
10  |nodxus 3,0 3,0 5,9
Bcezo no ke. 84 104,5 99,2 57,7 41,5 53 10,5 109,7
A Vil |ke.113 1 npuxoxasi 12,8 12,8 12,8 2,54
2 KYXHS1 11,6 11,6 11,6




Akcnnukauus
K NO3TaXHOMY NnaHy

c[f Iromans, Kb. M = ¢ y4€ToM JI0TKMii,
= o g > o .| 5 o |= & |0anxonos, sepanun,
= o Gl ~gl §E |Eg82 Teppac Ge3
- Z = & g == U3 Hee E ol S |EE S Pp
e S s s = =< 2 2 £&| 28 |25 2| nonmxkorp.

< C g = - s 2 = g |oo| B2 |2 & ¢
2 & g = s g o B g g - s |82l 22 |28 E| & z 8
@ < = = s = == = = g 2 z £ L = = = =5 3 < =z 2 e =
| 5| 25|28 ER% g2 | 28 s |E& |28 22 |2EC| 28 ¢
&2 5 ou s = = 5 g & |5 E s B
- SE|2Z| 2fz | Si | s: | B | € |s%|zz|if|icilEf| cé
~ o -
ET|EE| £% SE | 2% | F | Fo|El|Zglzd|EzEeE| gz
e & g $: | S 2 lg |27 g |Fe | RE| £ B
5 IR L s = £ g
= < = = 5
3 xunasi 19,3 19,3 19,3
4  |myanem 2,1 2,1 2,1
5 |eaHHas 3,5 3,5 3,5
6 Xunasi 12,7 12,7 12,7
Umoeo: 62,0 62,0 32,0 30,0
7 |nodxus 2,5 2,5 5,0
8  |nodxus 2,2 2,2 4,5
Bcezo no ke. 113 66,7 62,0 32,0 30,0 4,7 9,5 71,5
A Vil |ke.114 1 npuxoxasi 7.4 7.4 7,4 2,54
2 caHysen 4,9 4,9 4,9
3  |xkunas 18,0 18,0 18,0
4 KYXHs1 12,0 12,0 12,0
Hmoeo: 42,3 42,3 18,0 24,3
5 |nodxus 2,5 2,5 5,0
6 |nodxus 2,2 2,2 4,4
Bcezo no ke. 114 47,0 42,3 18,0 24,3 4,7 9,4 51,7
A Vil |ke.115 1 npuxoxasi 7.4 7.4 7,4 2,54
2 KYXHS1 11,9 11,9 11,9
3 xunasi 17,9 17,9 17,9
4 caHysen 4,9 4,9 4,9
Umoeo: 42,1 42,1 17,9 24,2
5 |nodxus 2,5 2,5 5,0
6  nodxus 2,3 2,3 4,5
Bcezo no ke. 115 46,9 42,1 17,9 24,2 4,8 9,5 51,6
A Vil |ke.116 1 npuxoxasi 12,5 12,56 12,5 2,54
2 xunasi 12,5 12,5 12,5
3 s8aHHasi 3,5 3,5 3,56
4 myarnem 2,1 2,1 2,1
5  |xunas 19,0 19,0 19,0
6 KYXHs1 11,6 11,6 11,6
Hmoeo: 61,2 61,2 31,5 29,7
7 |nodxus 2,5 2,5 5,0
8  |nodxus 2,2 2,2 4,5
Bcezo no ke.116 65,9 61,2 31,5 29,7 4,7 9,5 70,7
Mimoeo no 1-komHam. 359,3 326,4 144,7 181,7 32,9 66,2 392,6
Mimoeo rno 2-komMHam. 395,8 367,3 188,7 178,6 28,5 52,8 420,1
Mimoeo no 3-komHam. 199,6 189,9 107,4 82,5 9,7 19,3 209,2
Wmozo no keapmupam 954,7 883,6 440,8| 442,8 71,1 138,3| 1021,9
JIeCMHUYHasi
Imoo. | |nemka 19,3 19,30| 19,30
I oo JIeCMHUYHasi
' Il |knemka 19,5 19,50 19,50
Il nod JIeCMHUYHasi
' I |knemxa 24,6 24,60| 24,60
IV 100 JIeCMHUYHasi
| v |knemka 19,9 19,90 19,90
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Umoeo 83,3 83,30| 83,30 83,3
Bcezo no Vil amaxy: 1038,0 883,6 440,8 442,8 71,1 83,30 83,30| 138,3| 1105,2
A Vill |ke.85 1 npuxoxasi 19,2 19,2 19,2 2,53
2 2apOepobHasi 3,4 3,4 3,4
3 KYXHS1 12,6 12,6 12,6
4 xunasi 21,7 21,7 21,7
5 xunasi 13,1 13,1 13,1
6 xunasi 15,0 15,0 15,0
7 |8aHHas 4,2 4,2 4,2
8 myanem 1,7 1,7 1,7
Umoeo: 90,9 90,9 49,8 41,1
9  |nodxus 2,3 2,3 4,6
10 |nodxus 2,1 2,1 4,2
11 |nodxus 1,9 1,9 3,8
12 |nodxus 1,9 1,9 3,7
Bcezo no ke. 85 99,1 90,9 49,8 41,1 8,2 16,3 107,2
A VIl |ke.86 1 npuxoxasi 3,1 3,1 3,1 2,63
2 caHy3sen 4,0 4,0 4,0
3 xunasi 18,4 18,4 18,4
4  |eapdepobHas 1,9 1,9 1,9
5 KYXHs1 9,1 9,1 9,1
Umoeo: 36,5 36,5 18,4 18,1
6 |nodxus 2,2 2,2 4,5
7 |nodxus 1,9 1,9 3,9
Bcezo no ke. 86 40,6 36,5 18,4 18,1 4,1 8,4 44,9
A VIll |ke.87 1 npuxoxasi 3,2 3,2 3,2 2,63
2 |KyxHs 9,1 9,1 9,1
3 2apOepobHasi 1,9 1,9 1,9
4 Kunasi 18,5 18,5 18,5
5 caHysen 4,0 4,0 4,0
Umoeo: 36,7 36,7 18,5 18,2
6 |nodxus 2,2 2,2 4,5
7 |nodxus 1,9 1,9 3,9
Bcezo no ke. 87 40,8 36,7 18,5 18,2 4,1 8,4 45,1
A Vill |ke.88 1 npuxoxasi 19,1 19,1 19,1 2,63
2 myanem 1,8 1,8 1,8
3 s8aHHasi 4,2 4,2 4,2
4 Kunasi 14,9 14,9 14,9
5 xunasi 17,0 17,0 17,0
6 Xunasi 25,8 25,8 25,8
7 KYXHs1 12,6 12,6 12,6
8 |eapdepobHasi 3,7 3,7 3,7
Umoeo: 99,1 99,1 57,7 41,4
9  |nodxus 2,3 2,3 4,6
10  |nodxus 3,0 3,0 6,0
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11 |nodxus 1,9 1,9 3,8
12 |nodxus 2,7 2,7 55
Bceeo no ke. 88 109,0 99,1 57,7 41,4 9,9 19,9 119,0
Wimoeo no 1-komHam. 81,4 73,2 36,9 36,3 8,2 16,8 90,0
Wmoeo no 3-komHam. 208,1 190,0 107,5 82,5 18,1 36,2 226,2
Wmozo no keapmupam 289,5 263,2 144,4 118,8 26,3 53,0 316,2
I 100. JfieCmHuYHas
! Knemka 24,7 24,70 24,70
UWmoezo 24,7 24,70 24,70 24,7
Bcezo no VIl amaxy: 314,2 263,2 144,4 118,8 26,3 24,70 24,70 53,0 340,9
Bceeo no 1-koMHam.: 2507,2 2349,0 1043,5| 1305,5| 158,2 316,8| 2665,8
Bceeo no 2-koMHam.: 2694,8 2571,7 1321,9| 1249,8| 123,1 241,6| 2813,3
Bceeo no 3-komMHam.: 1605,1 1518,8 858,7 660,1 86,3 171,4| 1690,2
Bceeo no keapmupam : 6807,1 6439,5 3224,1| 3215,4| 367,6 729,8| 7169,3




